
LO: To be able to solve scaling problems.



WARM UP!
Write the missing digits to make the sums 

correct.



Today we are going to look at scaling problems.
Look at the example below.

As you can see, the mass of the cod is 5 times the mass of the zander.
If the zander’s mass is 11kg.
What is the mass of the cod?

How would you work it out?
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Now try this one…
An orange caterpillar is 5cm long. A brown caterpillar is 3 

times as long.

brown

orange 5cm

Write a calculation to find the length of the brown 
caterpillar.
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Do you agree with Jacob? Explain your 
reasons.

The adult chicken is 14 times 
heavier than the chick.

2kg 16kg
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Brilliant! You can now start your worksheet.


